OFFICE OF THE EXECUTIVE ENGINEER PHE DIVISION BARAMULLA

Email: kmrphebla@gmail.com (FAX) 01952234575 (Tel) 01952234244

Allotment Order No. 11 of 2023 dated 16-03-2023

Name of the agency sentractor	I- 10 10 1
Name of the agency/ contractor	Imran Ahmad Shah
Address	Nawab Bazar Srinagar
Registration No.	34/AAY/Civil & Sanitary/CE/CID/PDC/2010-11
Contact/ Email	iashah888@gmail.com
Name of work	Laying fitting of pipes, 0.60 lac glns SR, Support Pillars_Anchor Pillars, chowkidar quarter, chain link fencing and approach road for WSS Hanjiwera under JJM
References	This office ENIT 71 of 2022 (S.No. 17)
Accord of administrative approval No. & date	CE/PHE/DB/JJM/334 of 02/2023 dated 13.02.2023
Advertised Cost	Rs. 138.04 lacs
Allotted Cost	Rs. 13666400/- (Rupees One Crore Thirty Six Lacs Sixty Six Thousand Four Hundred Only)
Time of completion	120 days

For and on behalf of Lt. Governor of Jammu and Kashmir Union Territory, the above noted work is hereby allotted to you on quoted rates given in the Annexure "A" t this allotment, on the terms and conditions given here under:

Conditions:

- 01. Time of completion is essence of the contract.
- 02. The work shall have to be started by you at site immediately & ensure its successful completion within a period of 120 days from the date of issuance of allotment from this office strictly in accordance with the approved proposals failing which the work shall have to be got executed through any other means at your risk and cost, besides CDR deposited by you as security against this contract shall be forfeited.
- 03. An agreement shall have to be drawn up by you with the department within a period of 07 days from the date of issuance of allotment failure to execute such a formal deed shall not however prevent the contract from being enforced upon you.
- 04. The allotted works shall be subject to Check by the third party monitoring agency appointed by the Department.
- Payment shall be released as per actual / measured work done not less than 20% of the 05. allotted cost on a monthly basis.
- Performance security equivalent to 03% of the value of the contract shall have to be 06. deposited by you in shape of CDR/FDR/Bank Guarantee within one week of issuance of allotment order & Valid for a period of 03 months beyond the expiry of warranty period of the contract.
- The firm shall be bound for satisfactory performance of works for 18 months after the 07. successful commissioning of the works. If during warranty period any malfunctioning defects arise, you shall have to rectify the same within a period of 10 days of receipt of intimation. In case of any failure on your part, the department may get the defects removed / repaired by any other means and cost thereof shall be recovered from you and shall be recommended for further punitive action as governed under the relevant clause of the contract including black listing.
- After testing and commissioning of works you shall have to make a trial run of the works for 08. a period of 03 months during which you have to operate and maintain the executed works to the full satisfaction of the department.

- O9. The defective liability period shall be for a period of 12 months and shall commence after the successful completion of trial run.
- Pre & post Geo-tagged photographic evidence be taken during the execution of the work and shall have to be produced at the time of submission of the bill.
- Date of start of the work within 07 days from the date of issue of this letter. However date of start for laying and fitting of pipes will start within 02 days of issuance of pipe material by the department.
- 12. All other terms and conditions shall be applicable as laid down in Standard bid Document & PWD form No. 25/33.
- 13. Any rules/ terms and conditions if no stipulated in the bidding document, shall be strictly dealt in accordance with the relevant rules/ guidelines stipulated in General Financial Rules (GFR-2017 and manual for procurement of works 2019 G.O.I).

Flanges involved (if any) shall only be used in case of extreme exigencies, like rocky terrain, gorge & where trench is not possible.

(Encl: Annexure "A")

No. 11679-91 Dt. 1613/023

Executive Engineer lal Shakti Department Phy Division Baramulla

Copy to the :-

- 1/- Mission Director, Mission Directorate Jal Jeevan Mission J&K Civil Secretariat Srianagar/ Jammu for information.
- 2/- Chief Engineer Kashmir PHE Department Srinagar for favour of information.
- 3/- District Development Commissioner Baramulla (Chairperson DJJM) for favour information.
- 4/- Distt. Superintending Engineer Hydraulic Circle Bla/Bpr HQ Sopore (Member Secretary DJJM) for information. This is with reference to his authorization No: 12742-54 dated 07.01.2023.
- 5/- Additional District Development Commissioner Baramulla (Member DJJM) for information.
- 6/- Assistant Commissioner Development Baramulla (Member DJJM) for information.
- 7/- Divisional Forest Officer Baramulla (Member DJJM) for information.
- 8/- Chief Planning Officer Baramulla(Member DJJM) for information.
- 9/- Chief Medical Officer Baramulla(Member DJJM) for information.
- 10/- District Social Welfare Officer Baramulla/ District Tribal Welfare Officer Baramulla(Member DJJM) for information.
- 11/- District Information Officer Baramulla (Member DJJM) for information.
- 12/- Asstt. Ex. Engineer PHE Sub Division Pattan, for information.
- 13/- File Concerned.

eProcurement System Government of Jammu And Kashmir

Annexure "A"

of work:

ng fitting of pipes, 0.60 lac glns SR, Support Pillars_Anchor Pillars, chowkidar quarter, chain link fencing and approach road for shanjiwera under JJM.

Si.No	pescription of work / Item(s)	No.of Qty	Units	Rate	Total Amount
1.00	bottoms lift upto 1.5 m, including getting out excavated earth and disposal of surplus excavated earth as directed				
1.10	All Kinds of soil.	4386.130	Cum	436.000	1912352.680
2.00	Excavation in water bound macadam road including stacking of serviceable and unserviceable material separately and disposal of unserviceable material lead upto 50 m and lift upto 1.5 m, disposed material to be neatly dressed			646,050	660889.769
3.00	construction of sub granular and sub base (size range 75mm-0.075	72.520	cum	1081.000	78394.120
4.00	Supplying and ataking of graded stone aggrigates at site	117.000	cum	575.000	67275.000
5.00	Applying of tack coat using staright runn bitumonius of grade VG	390.0000	sqm	55.000	21450.000
6.00	Providing and laying previous bituman macdam with hard stone aggrihgate	390.000	sqm	382.000	148980.000
7.00	2.5 m thick bituminus sheet with approved quality using stone chippings	390.000	sqm	272.000	106080.000
8.00	Providing and laying seal coat of premixed fine aggrigate passing 2.36 mm and retained on 180 micron sieve.	390.0000	sqm	130.000	50700.000
9.00	Providing and laying hand packed stone soling 50 mm nominal size including filling, spreading, dressing, ramming, all leads lifts and all carriages complete.	60.614	cum	1320.000	80010.480
10.00	Providing and fixing of MS lid cover of size .90x.90x.90 with angle iron frame 50x50x6 mm thick	2.000	no	6500.000	13000.000
11.00	Providing and fixing of MS lader 4 mtr length with steps	150.000	kg	6500.000	975000.00
12.00	Providing and laying cement concrete in retaining walls, return walls, walls (any thickness) including attached pilasters, columns, piers, abutments, pillars, posts, struts, buttresses, string or lacing courses, parapets, coping, bed blocks, anchors blocks, plain window sills, fillets etc upto floor V level, including curing but excluding the cost of centring, shuttering and finishing with. 1:3:6 (1 cement: 3 coarse sand: 6 graded stone aggregate 20 mm nominal size)	91.340		7269.185	663967.35
3.00	Providing and laying in position cement concrete of specified grade including curing but excluding the cost of centring and huttering. All work upto plinth level with: 1:4:8 (1 cement : 4 parse sand : 8 graded stone aggregate 40 mm nominal size)	38.3860	cum	4861.835	186626.39
.00 Cd pl 1:	roviding and laying in position specified grade of reinforced ement concrete including curing but excluding the cost of entering, shuttering, finishing and reinforcement. All works upto inth level 12:4 (1 cement : 2 coarse sand : 4 graded stone aggregate 20 m nominal size)	1.810	Cum	6978.675	12631.4

		_00	Providing and laying in position specified grade of reinforce cement concrete including curing but excluding the cost centering, shuttering, finishing and reinforcement. All works upt plinth level 1:1½:3 (1 cement : 1½ coarse sand : 3 grades stone aggregate 20 mm nominal size)	of o 94.248 d	cum	7800.760	735206.028
	1	16.00	Reinforced cement concrete work in walls (any thickness including attached pilasters, buttresses, plinth and string courses fillets, columns, pillars, piers, abutments, posts and struts uptifior five level including curing but excluding cost of centering shuttering, finishing and reinforcement. 1:1½:3 (1 cement: 1½ coarse sand: 3 graded stone aggregated) mm. pominal size)	g 21.880	cum	9408.135	205849.994
		17.00	Reinforced cement concrete work in beams, suspended floors roofs having slope upto 15°, landings, balconies, shelves, chajjas lintels, bands, plain window sills, staircases and spiral stair cases upto five level including curing but excluding the cost of centring shuttering, finishing and reinforcement with 1:1½:3 (1 cement 1½ coarse sand : 3 graded stone aggregate 20 mm nominal size)	13.211	cum	9849.345	130119.697
	1		Boulder filling in rooms including handpacking and laying etc. complete	15.000	Cum	650.000	10192.000
	19	9.00	Reinforced cement concrete work in arches, archribs, domes, vaults shells, folded plate and roofs having slope more than 15° upto floor five level level including curing but excluding the cost of centering, shuttering finishing and reinforcement with: 1:1½:31 cement: 1½ coarse sand: 3 graded stone aggregate 20 mm ominal size)	25.0000	cum	10404.515	260112.875
	20.		roviding and incorporating G.I Sheet strap 150mm wide and 5mm thick during concreting.	05.290	Mtr	300.000	25587.000
	21.00 at 50		eel reinforcement for R.C.C. work including straightening, tting, bending, placing in position and binding all complete ove plinth level Thermo-Mechanically Treated bars of grade Fe- DD or more.	6980.1000	Kg	87.175	608490.218
			ntering and shuttering including strutting, propping etc. and noval of form work for:				0.000
	22.10		ndations, footings, bases for columns	49.090	sqm	262.300	12876.307
L	22.20) Wall plint	s (any thickness) including attached pilasters, buttresses, h and string courses etc.	538.1200	sqm	573.850	308800.162
2	22.30	Linte	el, beams, plinth beams, girders, bressumers and cantilevers.	17.050	sqm	502.850	8573.593
	2.40		ended floors, roofs, landings, balconies and access platforms.	43.100	sqm	635.600	27394.360
	2.50	Colur	nns, pillars, piers, abutments, posts and struts.	5.6000	sqm	680.150	3808.840
	2.60 3.00		es, domes, vaults upto 6 m span	70.960		2086.800	148079.328
	3.10		for shuttering in circular work:				0.000
-	.20	Wells	fations, footings, bases of columns etc.	12.9300	sqm	52.460	678.308
	.30		nded Floors	227.440	sqm	114.770	26103.289
23.			beams etc.,	5.410	sqm	127.120	687.719
23.	_			17.0500	sqm	100.570	1714.719
		1 2 2 2 3 7 7 7	or arches, domes, vaults exceeding 6 m span.	70.960	sqm	1008.450	71559.612
24.0	00	uesigna	york with common burnt clay (non-modular) bricks of class ation 7.5 in foundation and plinth including curing in: at mortar 1:6 (1 cement : 6 coarse sand)	15.130	Cum	6183.750	93560.138
		aleks)			11,21-4		1600

Car So

concrete bricks in superstructure above plinth level upto floor five level providing ridges or hips of width 60cm overall width plain G.S. and the selection of the providing ridges or hips of width 60cm overall width plain G.S. and the select fived with propriet coated 3. or 1. hooks, boths and nuts 7.400 Mtr 626.700 4637.590 providing corrupated G.S. sheets roofing fixed with ploymer coated 1 or 1. hooks, nuts 8 boths 8mm dia Chroning fixed with ploymer coated 1 or 1. hooks, nuts 8 boths 8mm dia Providing wood work in frames of doors, windows, clerestory windows and other frames, wrought framed and fixed in position with hold fast lags or with dash fasteners of required dia and length (hold fast lags or with dash fasteners of required dia and length (hold fast lags or with dash fasteners of required dia and length (hold fast lags or with dash fasteners of required dia and length (hold fast lags or with dash fasteners of required dia and length (hold fast lags or with dash fasteners of required dia and length (hold fast lags or with dash fasteners of required dia and length (hold fast lags or with dash fasteners of required dia and length (hold fast lags or with dash fasteners of required dia and length (hold fast lags or with dash fasteners) and length (hold fast lags or with dash fasteners) and length (hold fast lags or with dash fasteners) and length (hold fast lags or with dash fasteners) and length (hold fast lags or with dash fasteners) and length (hold fast lags or with dash fasteners) and length (hold fast lags or with dash fasteners) and length (hold fast lags or with dash fasteners) and length (hold fast lags or with dash fasteners) and length (hold fast lags or with dash fasteners) and length (hold fast lags or with dash fasteners) and length (hold fast lags or with dash fasteners) and length (hold fast lags or with dash fasteners) and length (hold fast lags or with dash fasteners) and length (hold fast lags or with dash fasteners) and length (hold fast lags or with dash fasteners) and length (hold f						
seeds in polymer coated J. or L hooks, bolts and nuts mid Ga. Limped and bitumen washers complete. 27,00 Providing corrupated G. Sheets roofing fixed with ploymer coatd 27,00 Providing corrupated G. Sheets roofing fixed with ploymer coatd 28,00 Providing vocal work in frames of doors, windows, derestory windows and other farmes, wrought framed and fixed in position with hold fast lugs or with dash fasteners of required dia and providing work in frames of doors, windows, derestory windows and other farmes, wrought framed and fixed in position with hold fast lugs or with dash fasteners of required dia and providing the fixed part of the separately): 29,00 1.1.5 (I cement : 6 fine sand) 29,00 1.1.5 (I cement : 6 fine sand) 31,00 Providing and mixing of water proofing Chemicals. Vide item 13.1.0 Providing and mixing of water proofing Chemicals. Vide item 20,00 \$\frac{1}{2}\$ (I cement : 3 fine sand) 31.00 Providing and mixing of water proofing Chemicals. Vide item 20,00 \$\frac{1}{2}\$ (I cement : 3 fine sand) 32.00 Providing and mixing of water proofing Chemicals. Vide item 20,00 \$\frac{1}{2}\$ (I cement : 3 fine sand) 31.00 Providing and mixing of water proofing Chemicals. Vide item 20,00 \$\frac{1}{2}\$ (I cement : 3 fine sand) 32.00 Providing and fixing of plain Eaves boarding of 2nd class kailwood 34.00 derectory windows using 4mm thick float glass panes including 35.00 Simmer work in the seed of th		Extra for brick work with common burnt clay bricks/cement concrete bricks in superstructure above plinth level upto floor five level	15.130	Cum	1323.650	20026.825
Providing Note in Fames of doors, windows, clerestory windows and other frames, wrought framed and fixed in position with hold fast lugs or with dash fasteners of required dia and length (hold fast lugs or with dash fasteners frequired dia and length (hold fast lugs or with dash fasteners frequired dia and length (hold fast lugs or with dash fasteners frequired dia and length (hold fast lugs or with dash fasteners frequired dia and length (hold fast lugs or with dash fasteners frequired dia and length (hold fast lugs or with dash fasteners shall be paid for separately): 20.00	26.	8mm dia G.I. limpet and bitumen washers complete. 0.50 mm thick with zinc coating not less than 275 gram/m2	7.400	Mtr	626.700	4637.580
windows and other frames, wrought framed and fixed in position sparately): windows and other frames, wrought framed and fixed in position sparately): with hold fast lugs or with dash fasteners of required dia and length (hold fast lugs or with dash fasteners for required dia and length (hold fast lugs or with dash fasteners of required sparately): NI/ Silver wond 29.00 1:6 (1 cement; 6 fine sand) 30.00 70.00 1:3 (1 cement; 5 fine sand) 31.00 1:3 (1 cement; 6 fine sand) 31.00 Providing and mixing of water proofing Chemicals. Vide item no.5,6 & 7 e) lug/bag 32.00 Providing and mixing of plain Eaves boarding of 2nd class kallwood 40mm thick & 300mm wide Providing and fixing glazed shutters for doors, windows and clerestory windows using 4nm thick float glass panes including 1ST marked M.S. pressed butt hinges bright finished of required size with necessary screws. ND/ Silver wood Providing and fixing wire gauze shutters using galvanized M.S. wire gauze of average width for aperture 1.4 mm in both directions with wire of dia. 0.63 mm for doors, windows and clerestory windows with 1ST marked M.S. pressed butt hinges direction of Engineer-in-charge: ND/ Silver wood Providing and fixing wire gauze shutters using galvanized M.S. wire gauze of average width for aperture 1.4 mm in both directions with wire of dia. 0.63 mm for doors, windows and clerestory windows with 1ST marked M.S. pressed butt hinges direction of Engineer-in-charge: ND/ Silver wood Providing & fixing Mixing wire gauze shutters using galvanized m.S. wire gauze of average width for aperture 1.4 mm in both directions with wire of dia. 0.63 mm for doors, windows and clerestory windows with 1ST marked M.S. pressed butt hinges provided may be a direction of Engineer-in-charge: ND/ Silver wood Providing & fixing Silver wood Providing and fixing Salem Stainless Steel A ISI 304 (18/8) kitchen sink as per 1.5. 13983 with C.I. brackets and stainless steel plug on including and fixing Salem Stainless Steel A ISI 304 (18/8) kitchen sink as	27.	J or L nooks, nuts & bolts 8mm dia	112.0200	sqm	830.250	93502.755
29.00 12mm cement plaster of mix: 1.6 f.1 cement: 6 fine sand) 12mm Cement plaster finished with a floating coat of neat cement of mix: 1:3 (1 cement: 3 fine sand) 30.00 12mm Cement plaster finished with a floating coat of neat cement of mix: 1:3 (1 cement: 3 fine sand) 31.00 Providing and mixing of water proofing Chemicals. Vide item providing and mixing of water proofing Chemicals. Vide item providing and fixing of plain Eaves boarding of 2nd class kailwood diventions of the providing and fixing glazed shutters for doors, windows and clerestory windows using 4mm thick float glass panes including 13mm thick 8.300mm wide providing and fixing glazed shutters for doors, windows and clerestory windows using 4mm thick float glass panes including 112.620 sqm 2500.000 281550.000 providing and fixing wire gauze shutters using galvanized M.S. wire gauze of average width for aperture 1.4 mm in both directions with wire of dia. 0.63 mm for doors, windows and clerestory windows with 1SI marked M.S. pressed but thinges bright finished of required size with necessary screws as per direction of Engineer-in-charge: (Xf) Silver wood 2500.000 providing and fixing wire gauze shutters using galvanized M.S. wire gauze of average width for aperture 1.4 mm in both directions with wire of dia. 0.63 mm for doors, windows and clerestory windows with 1SI marked M.S. pressed but thinges bright finished of required size with necessary screws as per direction of Engineer-in-charge: (Xf) Silver wood Providing & fixing White vitreous china water closet squatting pan (Indian type) along with "S" or "P" trap at site complete with all operations including all necessary materials, labour and disposal of dismantled material ly maths, all complete as per the direction of Engineer-in charge. Orissa pattern W.C Pan of size 580x440 mm Providing and fixing Salem Stainless Steel A ISI 304 (18/8) kitchen sink as per LS. 13983 with C.I. brackets and stainless steel plug 40 mm including panling of fittings and brackets, cutting and making good th	28.	windows and other frames, wrought framed and fixed in position with hold fast lugs or with dash fasteners of required dia and length (hold fast lugs or with dash fasteners shall be paid for separately):	1.4	cum	55000.000	178200.000
12mm Cement plaster finished with a floating coat of neat cement of mix: 1:3 (1 cement: 3 fine sand) 1:3 (1 cement: 3 fine sand)	29.0	12mm Cement plaster of mix:	80.000	sqm	241.750	19340.000
32.00 Providing & fixing of plain Eaves boarding of 2nd class kallwood 40mm thick & 300mm wide Providing and fixing glazed shutters for doors, windows and clerestory windows using 4mm thick float glass panes including 1SI marked M.S. pressed butt hinges bright finished of required size with necessary screws. KD/ Silver wood Providing and fixing wire gauze shutters using galvanized M.S. wire gauze of average width for aperture 1.4 mm in both directions with wire of dia. 0.63 mm for doors, windows and clerestory windows with 1SI marked M.S. pressed butt hinges bright finished of required size with necessary screws as per direction of Engineer-in-charge: KD/ Silver wood P/F of paneled or paneled doors, windows & celestory windows (area of opening for paneling insert excluding portion inside groves or rebates to be measured) paneling for paneled or panelled and glazed shutters 25 to 40mm thick. KD/ Silver wood Providing & fixing White vitreous china water doset squatting pan(Indian type) along with "5" or "P" trap including dismantling of old WC seat and "S" or "P" trap including dismantling of old WC seat and "S" or "P" trap including dismantling of old WC seat and "S" or "P" trap including dismantling of old WC seat and "S" or "P" trap including dismantling of old WC seat and "S" or "P" trap including dismantling of old WC seat and "S" or "P" trap including dismantling of fixings and parackets, cutting and making good the walls wherever required: Kitchen sink as per 1.5. 13983 with C.I. brackets and stainless steel plug 40 mm including painting of fittings and brackets, cutting and making good the walls wherever required: Kitchen sink with drain board 510x1040mm bowl depth 250mm 38.00 Providing & fixing PVC soil waste and vent plpe. 39.00 Providing & fixing PVC soil waste and vent plpe.	30.0	12mm Cement plaster finished with a floating coat of neat cement of mix: 1:3(1 cement:3 fine sand)	168.200	sqm	260.050	43740.410
40mm thick & 300mm wide Providing and fixing glazed shutters for doors, windows and clerestory windows using 4mm thick float glass panes including 151 marked M.S. pressed but hinges bright finished of required size with necessary screws. KD/ Silver wood Providing and fixing wire gauze shutters using galvanized M.S. wire gauze of average width for aperture 1.4 mm in both directions with wire of dia. 0.63 mm for doors, windows and clerestory windows with ISI marked M.S. pressed but hinges bright finished of required size with necessary screws as per direction of Engineer-in-charge: KD/ Silver wood 2000.000 20860.000	31.0	no.5,6 & 7 @ 1kg/bag	//3.000	Kg	57.900	44791.440
Clerestory windows using 4mm thick float glass panes including IST marked M.S. pressed but hinges bright finished of required size with necessary screws. KD/ Silver wood	32.0	Providing & fixing of plain Eaves boarding of 2nd class kailwood 40mm thick & 300mm wide	34.300	Mtr	600.000	20580.000
wire gauze of average width for aperture 1.4 mm in both directions with wire of dia. 0.63 mm for doors, windows and clerestory windows with ISI marked M.S. pressed butt hinges bright finished of required size with necessary screws as per direction of Engineer-in-charge: KD/ STIver wood P/F of paneled or paneled doors, windows & celestory windows (area of opening for paneling insert excluding portion inside groves or rebates to be measured) paneling for paneled or panelled and glazed shutters 25 to 40mm thick. KD/ Silver wood Providing & fixing White vitreous china water closet squatting pan(Indian type) along with "S" or "P" trap including dismantling of old WC seat and "S" or "P" trap at site complete with all operations including all necessary materials, labour and disposal of dismantled material i/c malba, all complete as per the direction of Engineer-in charge. Orissa pattern W.C Pan of size 580x440 mm Providing and fixing Salem Stainless Steel A ISI 304 (18/8) kitchen sink as per I.S. 13983 with C.I. brackets and stainless steel plug 40 mm including painting of fittings and brackets, cutting and making good the walls wherever required: Kitchen sink with drain board 510x1040mm bowl depth 250mm 38.00 Providing & fixing PVC soil waste and vent pipe. 30.00 Providing & fixing PVC soil waste and vent pipe.	33.0	clerestory windows using 4mm thick float glass panes including ISI marked M.S. pressed butt hinges bright finished of required size with necessary screws. KD/ Silver wood		sqm	2500.000	281550.000
(area of opening for paneling insert excluding portion inside groves or rebates to be measured) paneling for paneled or panelled and glazed shutters 25 to 40mm thick. KD/ Silver wood Providing & fixing White vitreous china water closet squatting pan(Indian type) along with "S" or "P" trap including dismantling of old WC seat and "S" or "P" trap at site complete with all operations including all necessary materials, labour and disposal of dismantled material i/c malba, all complete as per the direction of Engineer-in charge. Orissa pattern W.C Pan of size 580x440 mm	34.00	wire gauze of average width for aperture 1.4 mm in both directions with wire of dia. 0.63 mm for doors, windows and clerestory windows with ISI marked M.S. pressed butt hinges bright finished of required size with necessary screws as per direction of Engineer-in-charge:		sqm	2000.000	20860.000
pan(Indian type) along with "S" or "P" trap including dismantling of old WC seat and "S" or "P" trap at site complete with all operations including all necessary materials, labour and disposal of dismantled material i/c malba, all complete as per the direction of Engineer-in charge. Orissa pattern W.C Pan of size 580x440 mm Providing and fixing Salem Stainless Steel A ISI 304 (18/8) kitchen sink as per I.S. 13983 with C.I. brackets and stainless steel plug 40 mm including painting of fittings and brackets, cutting and making good the walls wherever required: Kitchen sink with drain board 510x1040mm bowl depth 250mm 38.00 Providing & fixing PVC soil waste and vent plpe. 30.000 No 3690.250 1.0000 No 3690.250 369	35.00	(area of opening for paneling insert excluding portion inside groves or rebates to be measured) paneling for paneled or		sqm	2500.000	45975.000
sink as per I.S. 13983 with C.I. brackets and stainless steel plug 40 mm including painting of fittings and brackets, cutting and making good the walls wherever required: Kitchen sink with drain board 510x1040mm bowl depth 250mm 38.00 Providing & fixing PVC soil waste and vent pipe. 38.10 100mm 30.0000 Mm	36.00	pan(Indian type) along with "S" or "P" trap including dismantling of old WC seat and "S" or "P" trap at site complete with all operations including all necessary materials, labour and disposal of dismantled material i/c malba, all complete as per the direction of Engineer-in charge.	1.0000	No	3690.250	3690.250
38.10 100mm 30.0000 Attack		sink as per I.S. 13983 with C.I. brackets and stainless steel plug 40 mm including painting of fittings and brackets, cutting and making good the walls wherever required: Kitchen sink with drain board 510x1040mm bowl depth 250mm		No	3500.000	3500.000
30 0000 Mm		Providing & fixing PVC soil waste and vent pipe.		7		0.000
			30.0000		250.000	
			20.0000	Mtr		

Con plan

		Providing and fixing PTMT towel rail complete with brackets fixed to wooden cleats with CP brass screws with concealed fitting arrangement of approved quality and colour. 450 mm long towel rail with total length of 495 mm, 78 mm wide and effective height of 88 mm, weighing not less than 170 gms.	4 000	No	802.700	802.700
		Providing & fixing GI pipes complete with GI fittings and clamps including cutting and making good the walls etc. (Internal works).				0.000
		0.10 15mm dia nominal bore. (light weight)	20.000	Mtr	278.900	5578.000
	40	0.20 20mm dia nominal bore. (light weight)	10,000		336.200	3362.000
	41	Providing & fixing GI pipes complete with GI fittings including trenching and refilling etc. (External works). 15mm dia nominal bore. (light weight)	35.0000	Mtr	133.750	4681.250
	42.	fittings and the base support for tank (Syntex, Electroplast, Star, Lotus or equivalent having valid ISI	1000.000	Litre	8.500	8500.000
	43.0	15mm dia nominal bore,	6.000	No	318.850	1913.100
	44.0	15mm dia nominal bore.	4.0000	No	536.100	2144.400
	45.0	(venus make or equivalent).	1.000	No	12500.000	12500.000
	46.00	switches complete.	20.000	No	1200.000	24000.000
	47.00	16-A switches complete.	3.000	No	1500.000	4500.000
	48.00	Providing & fixing of 1200mm sweep ceiling fans complete with accessories including dimmer of ISI mark complete.	2.000	No	3500.000	7000.000
-	49.00	Providing & fixing of Exaust fan in 1.5 sqmm stand wire to be laid in conduits complete.	2.0000	No	2500.000	5000.000
-	50.00	Providing & fixing of 16-A MCB of Indocap complete.	5.000	No	600.000	3000.000
-	51.00	Providing & fixing MCB distribution box 10 way main double door system.	1.000		5500.000	5500.000
	52.00	Cement concrete flooring 1:2:4 (1cement: 2 coarse sand: 4 graded stone aggregate) finished with a floating coat of neat cement including cement slurry and curing complete, but excluding the cost of nosing of steps etc. complete. 50 mm thick with 20mm nominal size stone aggregate.	116.900	sqm	555.500	64937.950
	53.00	Providing and fixing aluminium handles for door stopper ISI marked anodised (anodi coating not less than grade AC 10 as per IS: 1868) transparent or dyed to required colour and sahde with necessary screws etc complete				0.000
		125mm size	3.000	Nos	E4 250	
-		00mm size	10.0000	Nos	54.250	
5	4.00 p	Providing & fixing aluminium hanging floor door stopper ISI narked annodized (Anodic coating not less than grade AC 10 as er IS-1868) transparent or dyed to required colour or shade with uts and screws etc. complete	3.0000	733	48.450 35.200	
		Mark Search Control of the Control o		V	E-STATE OF THE STATE OF THE STA	THE RESERVE ASSESSMENT OF THE PERSON NAMED IN

		15mm thick cement plaster finished without floating coat of nead cement of mix 1: 6 mix (1 cement : 6 fine Sand).	1 130.330	sqm	163.650	24601.505
		Finishing with Epoxy paint (two or more coats) at all to all				
	\$6.0			NAME OF	120.050	19385.054
		complete.	c 150.550	sqm	128.950	19303.031
		Providing 40x5mm flat iron hold facts 40 to 1				
	57,00					2011 600
		embedings in cement concrete block 30x10x15cm (1:3:6) mix 20mm nominal size.	32.0000	No	113.800	3641.600
		Providing & fixing aluminium sliding door bolt ISI market				
	58.00			100		
	30.00	The state of the state of the state with mit	3.000	No	125.100	375.300
	-					
	Shipper and the same of the sa	Providing & fixing aluminium tower bolt ISI marked annodized			AND VALUE OF STREET	
	59.00	The country hot less than drade AC 10 ac acc 10 1000	Y .			0.000
		transparent or dyed to required colour or shade with nuts and screws etc. complete				
	59.10	150x10mm	6.000	No	63.900	383.400
	59.20	100x10mm	20.000		47.600	952.000
100		Structural steel work in built up sections, trusses and framed	20,000	110	17.000	332.000
	60.00	more including cutting, hoisting, fixing in position and applying a				
	00.00	Printing Codt Of dDDroved Steel nrimer all complete	2500.0000	kg	105.765	264412.500
		Riveted and bolted				
		Providing and fixing G.I. chain link fabric fencing of required				
	200 3000	width in mesh size 50x50 mm including strengthening with 2 mm				
	02.00	uld wire of nuts, bolts and washers as required complete as new	183.000	sqm	733.500	134230.500
		die direction of Engineer-incharge			755.500	154250.500
		Made of G.I. wire of dia 4 mm				
		Structural steel work in built up sections, trusses and framed				
	62 nn I'	voir, including cutting, hoisting, fixing in position and applying a		S. Carlot		
	I P	riming coat of approved steel primer all complete. iveted and bolted	2228.170	kg	105.765	235662.400
	I.	iveted and boited				
	Pr	oviding & fixing MS grill of required pattern in frames of				
6	3.00 W	ndows etc. with Ms flat.square or round have oto including	300.000	V-		
	pri	ming coat with approved steel primer. All complete.	300.000	Kg	120.000	36000.000
				1000		
	(th	oviding and laying Ceramic glazed floor tiles 300x300 mm				11/0/2010/09/
	con	ickness to be specified by the manufacturers) of 1st quality forming to IS:				
64			100			
	mor	22 of approved make, laid on 20 mm thick bed of cement	23.470	sqm	1115.800	26187.826
1	ioint	tar 1: 4 (1 cement : 4 coarse sand) including pointing the swith white cement and matching pigment etc., complete. In				20107.020
1	all o	plours, shades, except White, Ivory, Fume Red Brown		100		
-	Finie	hine with 5				
	prop	hing with Epoxy paint (two or more coats) at all locations	The Voltage			
65.0	00 inclu	ared and applied as per manufacturer's specifications		78		
	comp	any appropriate priming coat, preparation of surface at a	190.000	sqm	188.800	25020
	Comp	eel work			100.000	35872.000
1						
66.0	0 Layin	g and fitting of G.I. pipes (all classes) complete including				
	cost o	f pipe specials and excluding cost of Pipes and Earth work.				0.000
66.10	15 mm	n dia.	a series			0.000
66.20			3700.000	Mtr	20.250	74925.000
66.30			6000.0000	Mtr	20.250	121500.000
66.40	40 mm		5500.000	Mtr	30.650	121500.000
66.50	50 mm	dia.	4800.000	Mtr	40.800	168575.000
66.60	65 mm	dia	4500.0000	Mtr	40.800	195840.000
66.70	80 mm	dia	1000.000	Mtr	73.050	183600.000
66.80	100 mm		4330.000	Mtr	73.050	73050.000
	AT PERSON		650.0000	Mtr		316306.500
				- 10	107.700	70005.000

Con A

	The state of the second				
	Laying in position centrifugally cast (spun) iron S&S or flanged pipes (excluding cost of pipe) DI pipes	1437.430	Ott	245.550	352960.937
6	Providing push-on-joints to Centrifugally (C.		- Qui	13.330	
-	Ductile Iron Pipes including testing of joints and including the cost of rubber gasket.				0.000
68.1	0 100 mm dia DI pipes				
68.2	0 150 mm dia DI pipes	810.0000	No	89.700	72657.000
68.3		364.000	No	144.700	52670.800
00.3	200 mm dia DI pipes	40.000	No	213.000	8520.000
69.00	watering, lead upto 50 m and lift upto 1.5 m.	4887.3200	cum	198.700	971110.484
70.00	threading the pipe etc. complete				0.000
70.10	25 to 40 mm dia 50 to 80 mm dia	100.000	No	666.250	66625.000
70.30	100 mm dia	60.000	No	1268.750	76125.000
70.00	Manufacturing providing fixing of MS Bends/ Tees including	22.000	no	1756.700	38647.400
71.00	bolts, rubber washers etc., complete job.	800.0000	Kg	210.000	168000.000
72.00	Providing and fixing D.I. sluice valves (with cap) complete with bolts, nuts, rubber insertions etc. (the tail pieces if required will be paid separately). Confirming to IS:14846 read with latest amendments.				0.000
72.10	100 mm dia. 150 mm dia.	8.000	No	13164.000	105312.000
72.30	200 mm dia.	3.000	No	20243.000	60729.000
	Providing and fixing gun metal gate valve with C.I. wheel of	1.000	No	31698.000	31698.000
73.00	approved quality (screwed end)				0.000
73.10	25 mm nominal bore	30.000	No	543.850	16315.500
73.20	40 mm nominal bore	20.000		704.700	14094.000
	50 mm nominal bore	16.0000		942.750	15084.000
3.40	65 mm nominal bore	3.0000	No	1568.850	4706.550
4.00	Providing and fixing C.I. double acting air valve of approved quality with bolts, nuts, rubber insertions etc. complete (The tail pieces, tapers etc. if required will be paid separately).				0.000
1.10 8	0 mm dia.	10.000	No	6230.850	62308.500
	00 mm dia.	8.0000		8184.250	65474.000
00 60	roviding and fixing of MS surface boxes (0.75x0.75x0.75) of mm thick plate for sluice valves. The job includs fixing of angle on frame legs in cement concreate 1:2:4 mix with locking rangements complete.	20,0000		7000.000	140000.000
	rriage of material from source to site of work by Mechnical ansport including loading unloading and stacking etc.				0.000
	es (below 100mm dia) max lead 35 Km	91.310	M.ton	490.119	44752.766
2 Pip	es 100mm dia D.I max lead 35 Km	4450.000		11.868	52812.600
	es 150mm dia D.I max lead 35 Km	2000.000		19.930	39860.00
_	es 200mm dia D.I max lead 35 Km	220.0000		32.511	7152.42
	nent /Steel max lead 35 Km		M.ton	490.119	32837.97
San	d max lead 35 Km	142.280		551.333	78443.65
soili	- Farmer	3.6400		411.520	1497.93
agg	regate 20mm nominal size max lead 35 Km	147.410		551.333	81271.99
	regate 40mm nominal size max lead 35 Km	13.760	_	689.172	9483.00
	age of material from dumping/ road side to site of work by	2017-00	Cuiti	009.172	9403.00
Man	ual Means including loading unloading and stacking etc. max 500 Mtrs.				0.00
		No. of Concession, Name of Street, or other Persons, Name of Street, or ot	-	-	

Pipes (below 100mm dia) 86.990 M.ton 355.695 3094:								
	Pipes 100mm dia D.I/ GI	4450.0000		9.603	42733.350			
30	Pipes 150mm dia D.I	2000.000		13.547	27094.000			
40	Pipes 200mm dia D.I	220.000		251.200	55264.000			
7.50	7.50 100 mm G.I 220.000 Mtr 220.000							
77.60	soiling	159.470		214.550	143000.000 34214.289			
	77.70 Sand/ aggregate 20mm nominal size 323.720 cum 621.207							
77.80	aggregate 40mm	13.7600		772.283	201097.130 10626.614			
Total 1380444								
Quoted Rate @ Below 1% 13804								
Total Allotted Amount 1								
(Rupees One Crore Thirty Six Lacs Sixty Six Thousand Four Hundred & One Only)								

Rates & Qty checked by:

Head Draftsman

Executive Engineer PHE Division Baramulla